Place Value

Put these numbers in order from
smallest to greatest:

665, 656, 566, 556

x and +

7x3=

18 +3 =

Reasoning

These coins
total £3 and
40 pence.

Place Value

Write the next three numbers in
this sequence:

8, 16, 24... i )

Reveal answer

x and +

4 x4 =

12 + 4 =

Reasoning

Is Henry correct?

Explain why.

+ and -

+ 64 =100

100 - 18

Problem Solving How many parts

of this shape need
to be coloured in
to show 1?

Reveal answer

Is Alison correct?
Explain why.

+ and -
28 + =100
950 - 400 =

Problem Solving
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How many conkers and squirrels
did Henry see in the park? Elfiaer

I need to colour
in 8 more parts
to make < .

Place Value + and -
Put these numbers in order from 152 + 30 =
smallest to biggest:
411, 401, 141, 114 152 - 40 =

x and + Problem Solving

How many parts
of this shape need
colouring in to

3x4

16 + 4 = show 1 ?

Reasoning

These coins
total £4 and 80
pence.

Is Alison correct?
Explain why.

Problem Solving
How much money in total?

'.gf*

Place Value

Reasoning

Ismy
part-whole
model correct?

Explain why.




